Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V- EXAMINATION - SUMMER 2016

Subject Code: 3350604 Date:07/05/2016
Subject Name: ESTIMATING, COSTING & VALUATION
Time:02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q1 Answer any seven out of ten. €Ml SlEURL Ulcdotl wallet AW, 14
Define (i) Estimating (ii) Valuation

cqluyl AW (1) ARIAEL (R) AcyAalet

Enlist factors affecting Rate-analysis.

Allel YeUSWa WU 5l URral sl

Give Service unit for (i) Dam (ii) Stadium (iii) Water tank (iv) Prison
AluYyBle vl (1) o (2) R(Bam (3) wellell 2isl (¥) Bt
Define (i) Year’s Purchase (ii) Sinking fund.

clluAL AU (1) s dnd? () ol elslo

What are the Principles of Specification writing ?

Qe ([Qarel cdudletl Reaidl wRudl.

List the items considered as spot items.

AU AlBSH HL UHLALL Gllelcdl Al

Differentiate between Approximate estimate & Detailed estimate.
VAR USCL AHELY Aol (AdoldcllR BHELY ARAA dAsleld AU

Give measurement unit for (i) Skirting (ii) Wooden frame (iii) Pointing work
(iv) Surface dressing.

HURetl AsH Ul (1) 820U () ctsslell 31 (3) Wse2lol sIH
(%) A5U Aot
9. Write Measurement rules for Formwork.

¢, sladell Hiurllett Q200 Al

© e ND O LUK WL NP

o

10. Contingencies charges are to be ....... t0 oo % and work charged
establishment charges are to be ....... t0 .o % of estimated cost.
0. AEWd sHell ........... A e % URYWL WA dal .............
]| % asud Aelodlaoe WARA d3F Aaa B.
Q.2 (@) What are the objects of specification. 03
us.R () @QRle [Qarul ot dqal el 03
OR
(@) Define TASKWORK What are the factors affecting TASKWORK. 03
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Q.3

UA. 3

(1)
(b)
(W)

(b)
(W)
(©)
(8)

(©)
(8)

(d)
(S)

(d)
(S)

(W)
(a)

()

(b)

()

(b)
(W)

(©)

(8)

(©)

(8)

(d)

TASKWORK ofl caiiuil AUl el AR $cl UR ool Ul
Explain Typical Bay method.
Typical Bay Uta(d anestall.

OR
Enlist Qualities of Good Estimator.

URL AELSRaAl AR RUA.
Write detailed specification for wood work for Doors and windows.
ol ollRRlL oll ALsSISIH Hizell (Aot [Qlle (@Rl dul.

OR
Write detailed specification for Plastering work in C.M. (1:4)

WAHR2R (1 : ¥) HIRZ (Qotdar [@R1e @Qarul cdull.
Derive Rate analysis for Brick masonry in C.M. (1:6) up to plinth.
fla Yellotl Saotl URARSIH (1:5) HIZ cllayeasWL 53

OR
Derive Rate analysis for R.C.C. (1:2:4) work for slab.

WURALAL (2:R:¥%) QAL U2 cllayeasWL 5.

Workout Quantities of Excavation for foundation for Residential Building (Fig

1),

d0Us Uslelall (sl 1) waltetl vWlestH 12 ARl a1t s

OR

Workout Quantities of B.B.C.C. (1:4:8) for foundation for Residential

Building (Fig 1).
d0ls Uslotall (pUs(d 1) Wallell AsL slgle (1:¥:¢) H2 AQ{
a3l 83

Workout Quantities of Earth filling in foundation only in main three rooms for

Residential Building (Fig 1).

80Us  HSlotall (sl 1) Yuat 2@l 3HHL wanHl 12l yrel Hizedl

LA sl 52
OR

Workout Quantities of D.P.C. at Plinth level for Residential Building (Fig 1).

d0ls Uslotatl (sl 1) W wlla Qad sLUll o 2@l
a3l 83

Workout Quantities of Brick masonry only for first and Second footing for

Residential Building (Fig 1).

8RS H5lotoll (U5(A 1) oll Wllett YuH A oflost gEloL 12 ARLAR sLHe{l

ABA o1l A
OR

Workout Quantities of 30cm. thick Brick masonry for super structure without

deduction for opening and lintels for Residential Building (Fig 1).
280lis Hslotell (RUs(Q 1) ot wlla GuRett 30 AHL. otsl ARAR siHell

SleURL stcoll UL ¥ {lectell ateotsl Reatat ol AQA sl A

Workout Quantities of R.C.C. (1:1.5:3) work for slab and lintel only for

Residential Building (Fig 1).
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Q.4

YA ¥

(8)

(d)

(8)

(a)

(W)

(@)

()

(b)

()

(b)

()

(©)

(8)

/s Usletall (UslQ 1) ol QAN dal led W wR.{LAL

(1:.4:3) stH H2ell AR ol s

OR
Workout Quantities of Plastering work in C.M. (1:4) in Drawing room and
Bed room only for Residential Building (Fig 1).

80ls Uslololl (AUs(A 1) oll Ass 3H Ul AS3H HIZ wlReIaL s
H2oll AR 21l 52

A machine is purchased at the cost of Rs. 80,000/-. Scrap value of machine
after the end of life 15 years is 10% of the cost of machine. Calculate the book
value of machine after 10 years. Use Constant % method.

3. ¢0,000/- Hl WRlEA Hallotoll qU al w2t olle Aol elouR
(B 1allotoll (Bucott 10% ®. 10 ay olte Uellote] AUSIYERL HAN

eslallo(l el 20t

OR
What yearly installment should be pay to repay a loan of Rs. 5,00,000/- at 10%
rate of interest in 25 years.

3. 4,00,000/- o{l 10% oll cAl® A Aot U i ¢Rall HR

s slcloll oLl s

Find out yearly installment of Sinking fund of a building costing Rs. 10 lacs
and life of building is 60 years. Take rate of interest on S.F. 6% and Take 10%
scrap value.

3. 10,00,000/- ofl [§Hclotl HUsloto] WYL SO dY B, oISl GUR
ol €2 S% el 10% GURYEL A8 ollRueislo ol s eicloll

L3l 83

OR
Differentiate between (i) Scrap value and Salvage value (ii) Book value and
Market value.

dstald Al (1) GRIR YU Aal RILulR YU () AUSL YU wa

ALIERY(CT

Determine the valuation of a Cinema from following details.
Present value of land - Rs. 3,50,000/-

Future life of Building - 15 years

There are three shows daily.

Income from a show at full capacity — Rs. 1,20,000/-

All outgoings are 70% of total income.

The rate of interest is 9% for capital & 6% for S.F.

o{lAc(l [Qotcl Ul sl 2ust20(l 53U

o Hlotoll slctell (EHA - 3. 3,U0,000/-

Hslolo] el gt — au al

£all 2Rl 2 B. As 2ol sA el 4as — 3. 1,20,000/- 8.
(ol wal sct vuasatl 0% B.

ool GLSI GUR S % wA 3Ued GUR ¢ % el €2 B
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Q.5 () Workout the quantity of earthwork from following data. 04
Chain length 30 m.
Formation width = 10 mt. and Side slope for cutting 1:1 (H:V)

Ch | Depth of cutting at Cross slope of ground.
centre
0 20m 10:1 (H:V)
1 2.5m 12:1 (H:V)
2 3.0m 8:1(H:V)
ysu () oAl Qotcdl uRell HdlstHoll AR a1t s2U. 0¥

Uisnell cous 30 Hl. B.
dal? 2dRell uslouy 10 Hl. wA VLEWRL HIZ ool Blo (2:1) (H:V)

Ch | Depth of cutting at Cross slope of ground.
centre
0 20m 10:1 (H:V)
1 2.5m 12:1 (H:V)
2 3.0m 8:1(H:V)

(b)  Calculate the quantities of steel in kg. for right side portion of STEM only for 04
Retaining wall. (Fig 2)

() Reellol At sl R) oit STEM Walet ofl aHEl oty 12 Wletoll 0%

LI EGEIER
(c)  Workout the quantities of C.C. (1:1.5:3) for Retaining wall. (Fig 2) 03
(5) S2sellol Al Rusld 2) we dl¥e sisle (:a.u:3) Mol 2wl 03

LI EEIER
(d)  Workout the quantities of formwork for Retaining wall. (Fig 2) 03

(s) SRsellor Al (usld 2) w2 sias ol nllell ol s 03
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